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29PN PRI BIPPA VW WN Q -1 NTIPIN NNY P -2 NP DR NIxnD (1)
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202 +3zy +4y* —Tx +8y+5 = 0
62> +ay — Ty  +2x+2y+1 = 0

ONITI OTPVY
> qQLli=2*x"2 + 3ty + 4*y"2 — T*X + 8%y + 5 ; q2:=6*X"2 + X*y —
TRYN2 + 2K + 2%y +1 7
ql::2x2+3xy+4)%—7x+8y+5

q2::6x2+xy—7);+2x+2y+1 (1)
> fsolve( {q1=0,q2=0}, {x,y});
{x=15.428740907, y = -4.688239569} 2)

N2 72TD IR OTPYY 120 INK TIPN NI 1N P M DX 0D
> X:=solve( 6*ql-2*q2=0, x );
14419y +22y

Xi=- 1
-23+8y )
> Ys:=[fsolve( numer( simplify( subs( x=X, g1 )))=0, y)I;
Ys:=[-4.688239569, -0.4179329091 ] (2)
> forifrom 1 to nops(Ys) do
> print( [subs(y=Ysli],X), Ys[i] ]);
> end do;
[5.428740909, -4.688239569]
[0.3083940151, -0.4179329091 ] (3)
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